
D1(10)S 
Ducati Monster 600/750/900 (-2000) 

 

ID. Description Cat.no. pcs 

1 Steel rod M10x(1,25)x375x30x30 - 1 

2 Slider adapter 317 2 

3 Special nut M10x1,25 X11 2 

4 Dural cylinder  d=46mm 25 1 

5 Dural cylinder  d=48mm 26 1 

6 Bolt M6x25 877 6 

7 Bolt M4x16 876 4 

 

 

Instructions: 
 

1.) Remove original bolts from frame. 

2.) Insert steel rod into the frame. 

3.) Put dural cylinders on the rod from both sides. 

4.) After dural cylinders put slider adapter. 

5.) Tighten this set using special nuts. 

6.) Now fit slider on the slider adapter using three  M6 bolts. 

7.) In the end fit coloured cover using two M4 bolts. 

 

 

 

 

 

 

 

 

 

3 

2 
3 

5 4 

2 
1 

6+7 6+7 


